EXERCISE 5-2 (15-20 minutes)

	  1.
	H.
	11.
	B.

	  2.
	D.
	12.
	F.

	  3.
	F.
	13.
	A.

	  4.
	F.
	14.
	H.

	  5
	C.
	15.
	C.

	  6.
	A.
	16.
	B.

	  7.
	F.
	17.
	A.

	  8.
	G.
	18.
	A.

	  9.
	A.
	19.
	G.

	10.
	A.
	20.
	F.


EXERCISE 5-3 (15-20 minutes)

	  1.
	A.
	11.
	A.

	  2.
	B.
	12.
	F.

	  3.
	F. or G.
	13.
	A. or E. (preferably A.)

	  4.
	A.
	14.
	C. and N.

	  5
	F.
	15.
	D. or E. (preferably D.)

	  6.
	H.*
	16.
	F.

	  7.
	I.
	17.
	X.

	  8.
	D.
	18.
	F.

	  9.
	A.
	19.
	C.

	10.
	F.
	
	


*“H” if the par value method is used; otherwise, as a deduction from total stockholders’ equity.

EXERCISE 5-4 (30-35 minutes)

	Denis Savard Inc.

	Balance Sheet

	December 31, 20–

	Assets

	Current assets
	
	
	

	      Cash
	$XXX
	
	

	            Less cash restricted for plant 
               expansion
	
  XXX
	
$XXX
	

	      Accounts receivable
	XXX
	
	

	            Less allowance for doubtful 
               accounts
	
  XXX
	
XXX
	

	      Notes receivable
	
	XXX
	

	      Receivables—officers
	
	XXX
	

	      Inventories
	
	
	

	            Finished goods
	XXX
	
	

	            Work in process
	XXX
	
	

	            Raw materials
	  XXX
	  XXX
	

	                  Total current assets
	
	
	$XXX

	
	
	
	

	Long-term investments
	
	
	

	      Preferred stock investments
	
	XXX
	

	      Land held for future plant site
	
	XXX
	

	      Cash restricted for plant expansion
	
	  XXX
	

	                  Total long-term investments
	
	
	XXX

	 
	
	
	

	Property, plant, and equipment
	
	
	

	      Buildings
	
	XXX
	

	            Less accum. depreciation—
               buildings
	
	  
XXX
	
XXX

	
	
	
	

	Intangible assets
	
	
	

	      Copyrights
	
	
	  XXX

	             Total assets
	
	
	$XXX


EXERCISE 5-4 (Continued)

	Liabilities and Stockholders’ Equity

	Current liabilities
	
	
	
	

	      Accrued salaries payable
	
	$XXX
	
	

	      Unearned subscriptions
	
	XXX
	
	

	      Unearned rent
	
	  XXX
	
	

	            Total current liabilities
	
	
	
	$XXX

	
	
	
	
	

	Long-term debt
	
	
	
	

	      Bonds payable, due in four years
	
	
	$XXX
	

	      Discount on bonds payable
	
	
	 (XXX)
	  XXX

	            Total liabilities
	
	
	
	XXX

	
	
	
	
	

	Stockholders’ equity
	
	
	
	

	      Capital stock:
	
	
	
	

	            Common stock
	$XXX
	
	
	

	            Common stock subscribed
	  XXX
	XXX
	
	

	      Additional paid-in capital:
	
	
	
	

	            Premium on common stock
	
	  XXX
	
	

	                  Total paid-in capital
	
	
	XXX
	

	      Retained earnings
	
	
	  XXX
	

	                  Total paid-in capital and 
                     retained earnings
	
	
	
XXX
	

	            Less:  Treasury stock, at cost
	
	
	(XXX)
	

	                        Stock subscriptions 
                           receivable
	
	
	
 (XXX)
	

	                  Total stockholders’ equity
	
	
	
	  XXX

	                  Total liabilities and stock-
                     holders’ equity
	
	
	
	
$XXX


Note to instructor: As assumption made here is that cash included the cash restricted for plant expansion. If it did not, then a subtraction from cash would not be necessary or the cash balance would be “grossed up” and then the cash restricted for plant expansion deducted.

 EXERCISE 5-6 (30-35 minutes)

	Geronimo Company

	Balance Sheet

	As of July 31, 2002

	Assets

	Current assets
	
	
	

	      Cash
	
	
	$  60,000*

	      Accounts receivable
	
	$  46,700**
	

	            Less allowance for doubtful 
               accounts
	
	
      3,500
	
43,200

	      Inventories
	
	
	     65,300***

	            Total current assets
	
	
	168,500

	
	
	
	

	Long-term investments
	
	
	

	      Bond sinking fund
	
	
	15,000

	 
	
	
	

	Property, plant, and equipment
	
	
	

	      Equipment
	
	112,000
	

	      Less accumulated depreciation—equipment
	    28,000
	84,000

	
	
	
	

	Intangible assets
	
	
	

	      Patents
	
	
	    21,000

	             Total assets
	
	
	$288,500

	Liabilities and Stockholders’ Equity

	Current liabilities
	
	
	

	      Notes and accounts payable
	
	
	$  52,000****

	      Taxes payable
	
	
	      6,000

	            Total current liabilities
	
	
	58,000

	
	
	
	

	Long-term liabilities
	
	
	    75,000

	            Total liabilities
	
	
	133,000

	
	
	
	

	Stockholders’ equity
	
	
	  155,500

	            Total liabilities and stock-
               holders’ equity
	
	
	
$288,500

	*
	($69,000 – $15,000 + $6,000)

	**
	($52,000 – $5,300)

	***
	($60,000 + $5,300)

	****
	($44,000 + $8,000)


	
	PROBLEM 5-5
	


	Stephen King Corporation

	Balance Sheet

	December 31, 2002

	Assets

	Current assets
	
	
	

	      Cash
	
	
	$  114,000

	      Trading securities—at fair value
	
	
	80,000

	      Accounts receivable
	
	$170,000
	

	            Less allowance for doubtful 
               accounts
	
	
    10,000
	
160,000

	      Inventories, at lower of cost
         (determined using FIFO) or market
	
	
	
    180,000

	            Total current assets
	
	
	$  534,000

	
	
	
	

	Long-term investments
	
	
	

	      Investments in common stock  
         (available for sale)—at fair value
	
	
140,000
	

	      Bond sinking fund
	
	250,000
	

	      Cash surrender value of life 
         insurance
	
	
40,000
	

	      Land held for future use
	
	  270,000
	700,000

	 
	
	
	

	Property, plant, and equipment
	
	
	

	      Land
	
	500,000
	

	      Buildings
	$1,040,000
	
	

	            Less accum. depreciation—
               building
	
   360,000
	
680,000
	

	      Equipment
	450,000
	
	

	            Less accum. depreciation—
               equipment
	
  180,000
	
  270,000
	
1,450,000

	
	
	
	

	Intangible assets
	
	
	

	      Organization costs
	
	130,000
	       36,000

	      Franchise
	
	165,000
	

	      Goodwill
	
	  100,000
	    395,000

	            Total assets
	
	
	$3,079,000


PROBLEM 5-5 (Continued)

	Liabilities and Stockholders’ Equity

	Current liabilities
	
	
	

	      Accounts payable
	
	
	$  90,000

	      Notes payable
	
	
	80,000

	      Bank overdraft
	
	
	14,000

	      Taxes payable
	
	
	40,000

	      Unearned revenue
	
	
	        5,000

	            Total current liabilities
	
	
	$  229,000

	
	
	
	

	Long-term liabilities
	
	
	

	      Notes payable
	
	$ 120,000
	

	       10% bonds payable, due 2010
	$1,000,000
	
	

	            Less discount on bonds payable
	    40,000
	   960,000
	  1,080,000

	            Total liabilities
	
	
	1,309,000

	
	
	
	

	Stockholders’ equity
	
	
	

	      Capital stock
	
	
	

	            Preferred stock, no par value; 
               200,000 shares authorized,
               70,000 issued
	

450,000
	
	

	      Common stock, $1 par value; 
         400,000 shares authorized, 
         100,000 issued
	

100,000
	
	

	      Paid-in capital in excess of par on 
         common stock (100,000 X 
         [$10.00 – $1.00)]
	

  900,000
	

1,450,000
	

	      Retained earnings
	
	   320,000
	

	            Total stockholders’ equity
	
	
	  1,770,000

	            Total liabilities and 
               stockholders’ equity
	
	
	
$3,079,000

	
	
	
	


	
	PROBLEM 5-6
	


	(a)                                        Nicholson Industries

	Statement of Cash Flows

	For the Year Ended December 31, 2002

	Cash flows from operating activities
	
	

	      Net income
	
	$32,000

	      Adjustments to reconcile net income to net cash provided by operating activities
	
	

	            Depreciation expense
	12,000
	

	            Gain on sale of investments
	(3,400)
	

	            Increase in Acct. Receivable
               ($41,600 – $21,200)
	
(20,400)
	
  (11,800)

	Net cash provided by operating activities
	
	20,200

	
	
	

	Cash flows from investing activities
	
	

	      Sale of investments
	17,000
	

	      Purchase of land
	(18,000)
	

	      Net cash used in investing
	
	(1,000)

	
	
	

	Cash flows from financing activities
	
	

	      Issuance of capital stock
	24,000
	

	      Retirement of notes payable
	(16,000)
	

	      Payment of cash dividends
	   (8,200)
	

	      Net cash used by financing activities
	
	 (200)

	
	
	

	Net increase in cash
	
	19,000

	Cash at beginning of year
	
	  20,000

	Cash at end of year
	
	$39,000


The purchase of land through the issuance of $30,000 of bonds is a significant noncash financing transaction that would be disclosed in notes accompanying the financial statements.

PROBLEM 5-6 (Continued)

(b)

	Alistair Cooke Inc.

	Balance Sheet

	December 31, 2002

	Assets
	
	Liabilities and Stockholders’ Equity

	Cash
	$39,000
	
	
	Accounts payable
	$30,000
	

	Accounts 
  receivable
	
41,600
	
	
	Long-term notes

  payable
	
25,000
	
(4)

	Investments
	18,400
	(1)
	
	Bonds payable
	30,000
	(5)

	Plant assets (net)
	69,000
	(2)
	
	Capital stock
	124,000
	(6)

	Land
	    88,000
	(3)
	
	Retained earnings
	    47,000
	(7)

	
	$256,000
	
	
	
	$256,000
	


(1) $32,000 – ($17,000 – $3,400)

(2) $81,000 – $12,000

(3) $40,000 + $18,000 + $30,000

(4) $41,000 – $16,000

(5) $0 + $30,000

(6) $100,000 + $24,000

(7) $23,200 + $32,000 – $8,200

(c)
This type of information is useful for assessing the amount, timing, and uncertainty of future cash flows. For example, by showing the specific inflows and outflows from operating activities, investing activities, and financing activities, the user has a better understanding of the liquidity and financial flexibility of the enterprise. Similarly, these reports are useful in providing feedback about the flow of enterprise resources. This information should help users make more accurate predictions of future cash flow. In addition, some individuals have expressed concern about the quality of the earnings because the measurement of the income depends on a number of accruals and estimates which may be somewhat subjective. As a result, the higher the ratio of cash provided by operating activities to net income, the more comfort some users have in the reliability of the earnings. In this problem the ratio of cash provided by operating activities to net income is 63% ($20,200 ( $32,000).

PROBLEM 5-6 (Continued)

An analysis of Cooke’s free cash flow indicates it is negative as shown below:

	Free Cash Flow Analysis

	
	
	

	Net cash provided by operating activities
	
	$20,200

	Less:   Purchase of land
	
	(18,000)

	             Dividends
	
	   (8,200)

	Free cash flow
	
	$ (6,000)


Its current cash debt coverage is .67 to 1 
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 and its cash debt coverage ratio is .26 to 1 
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, which are reasonable. Overall, it appears that its liquidity position is average and overall financial flexibility should be improved.
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